DDE V600 Il 65HPR MycTaHr 2

CtpaHuua 1



DDE V600 Il 65HPR My

ycTtaHr 2 Bug A

Ne ApTukyn HanmeHoBaHue Ne ApTuKyn HanmeHoBaHue
1 ["anka M8 33 Bont M10x30

2 Bont M8x45 34

3 HSD1G80C.KL Hox nesbiit 35 LWan6a ¢ 10

4 GB/T5783 Bont M8x25 36 |HSD1G80B.220111 Ponuk HaTspkeHns pemHs

5 GB/T6170 [arika M8 37 MNoawmnHmk 6300

6 HSD1G80B.761120 HOX ANCK KPOMOYHbIN 38 [arika M10

7 ["anka M6 39 Bont M8x30

8 LWnnuHT 8x45 40 Bont M8x30

9 HSD1G80B.761110 [epxatenb HOXeWn,2 Yactu 41 [anka M6

9A HSD1G80C.763010 Lepxatenb HOXel , 6onbLuasa YacTb 42 |HSD1G80B.220112 KpOHLUTENH PONMKOB HaTsXKeHUst
10 43 MoawmnHmk 6201

11 HSD1G80C.KR Hox npaBbini 44 |HSD1G80B.220120 LLlecTepHsa 3agHero xoaa Begomasi
12 45 |GB/T11544-R PemeHb peBepca

13 GB/T5783 Bont M8x40 46 |HSD1G80B.220121 KpoHwwTenH 3agHero xoga

14 Lanba M8 a7 'poBep 6

15 GB/T6170 ["anka M8 48 BuHT M6x15

16 49 |GB/T5783 Bont M8x25

17 Brynka 8x8,5x6 50 Llanba 8

18 Lllan6a 25x8,5x2,5 51 |HSD1G80B.220130 KpOHLITENH 3aHWI KPEMNEHWS KPbILLKA
19 HSD1G80B.220030 KpoHwTenH y3na pesepca 52 [arika M8

20 HSD1G80B.220020 Wkne Beaywmmn 53 10100040002 Mpobka macnsHas

21 |GB/T77-2000 WTndT BUHT M6X18 54

22 HSD1G80B.220040 ecTepHs 3aaHero xoaa 55 |HSD1G80B.220150 LLiknB BegombIn

23 GB/T1096 LLInoHka 5X5X25 wkuBa 56 |GB/T11544-F PemeHb xoaa

24 ["anka M8 57

25 HSD1G80B.220040 LLlecTepHst 3agHero xoga 58

26 59

27 GB/T5783 Bont M8x25 60

28 Llan6a ¢ 6 61 Oeuratens 168F

29 HSD1G80B.220060 Mpy>xuHa HaTSHXKEHUS pEMHS 62

30 Bont M6x10 63

31 HSD1G80B.220070 Mpy>xnHa HaTSXKEHUS PEMHS 64 Bont M6x15

32 HSD1G80B.220080 BTynka

CtpaHuua 2




DDE V600 Il 65HPR MycTanr 2 Bug B

Ne ApTuKyn HaumeHoBaHue
1

2 0101550002 Koneco

3 lavika M10

4 0101220001 Tpoc rasa

5 Bont M10x80

6 Ltncpt 10x50

7 WnnvHT

8

9 Bont M10x45

10 Bont M6x30

11 lanika M6

12 Bont M10x25

13

14 10100500006 Pyudka cuennexus
15 0100180010 MpyxuHa koneca
16 Lanba 10

17

18 "anka M6

19 0101210001 Pblyar rasa

20

21

22 0100560004AE Pyudka 3axuma pyns
23 LLanba 6

24

25 LLanba 6

26

27 BuHT M6X20

28 0100190003AA Koxyx pemHs

29 0100540010 Tpoc cuenneHus
30 HSD1G80B.400050 Tpoc 3agHero xoga
31

32 Bont 12x90

33 Bont 10x25

34

35 BuHT M6X20

36 0100780003AC KpoHwTenH koneca
37

38 0101030001AF LLlecTepHs 3axuma pyns
39

DDE V600 Il 65HPR

MycTaHr 2

Bug B

CtpaHuua 3




DDE V600 Il 65HPR Myctaur 2 Bug C
Ne ApTukyn HaumeHoBaHue Ne ApTukyn HanmeHoBaHue
1 10 |GB/T9877.1 CanbHuK pegykTopa
2 GB/T276-6003 MoawwmnHuk 6003 11 |GB/T276-6007 MoawwnnHmk 6007
3 12 |HSD1G80B.370020 Ban c wecTtepHeii BbIXOAHOW
4 13 Bont M5x12
5 14 |HSD1G80B.370005 MNpoknagka pegykropa
6 lanka M8 15
7 HSD1G80B.370003 Ban c wecTepHen Beaywun 16 BonTt M8x45
8 HSD1G80B.370010 Llenb 17 0100040002 Mpobka macnsiHas
9 lavika M5 HSD1G80B.300002SET |PepnykTop B cbope

& (&

Bup C

DDE V600 Il 65HPR MycTaHr 2

CtpaHuua 4




